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Solve Logarithmic Equations and Inequalities

Logarithmic to fb>1, x>0, andlog, x>y, then x > bY.
Exponential Inequality fb>1,x>0,andlog, x <y, then 0 < x < bV.

Property of Equality for | If bis a positive nurﬁber other than 1,
Logarithmic Functions then log, x = log, y if and only if x = y.

Property of Inequality for | If b= 1, then log, x > log, yif and only if x > y,
Logarithmic Functions and log, x < log, yif and only if x < y.




120319 10.1 Exponential Functions.notebook March 19, 2012

E/ﬁ‘fﬂﬂle_—}' SO\VC *(or){i
1056 o X < 2

O<x < b7 Legudn o Bgane)
O - Sa lﬂ@ﬁudﬁlg

Example S Sfve {orx:

[,.0 crithm o E)WW\‘?’\-‘_’IC“‘
X > Ey I J;\eﬁ,a\,‘l‘gp
X>& 7



120319 10.1 Exponential Functions.notebook March 19, 2012

EX(’J‘\Q‘Q q. Sa\ve oy F

% s (Fl— ;Z);j‘?ﬁs. ~

PP
00}—03—2——-0

>/ (P29 -2=o0
,—X D(P—Q)H(P 2 )=
(P 1)p-2)=0
be[:o ID’Q:—/O

Ea S S

W“ Solve for X<

/@?%Xlzf@?q (L’[X“B)

Xl;4x~5 x3~91)<43:@

)()\_L?LX - "'3 ‘Sé}
%}—L/ + :—57_%‘ 1
N X E3%-[x7+3= 0

(x=2)=
_ ><K><~“b>‘)(><~5>%
-2 =307
-n=1 | (X=-D-2)=0
-2 = w2 =~ X—(FO x-3=0
= / \L‘“' K:”?

K= X




120319 10.1 Exponential Functions.notebook March 19, 2012

Homework:
pages 536-538
#21-37 ODD
#47-57 ODD
#85-90 ODD
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(P + 1872 +83r+16) = (r+9)
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